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Part II 3-Tier
COST ACCOUNTING
| PAPER—XIV Co
(Honours in ‘Accounting and Finance’)
Full Marks : 100 |

Time : 4 Hours

The. nigures in the right-hand margin indicate full mcizrks.

Candidates are required to "give their answers in ﬂiv.e_ir

own words as far as practicable,

Htustrate the answers wherever necessary.

1. Answer any five questions : 4x5

()
(b)

(©

Classify Cost According to element with examples in
-each case.

What are the advantages and limitations of ?labour
hour method of overhead absorption ? ‘

Distinguish between Contract Costing and Job
Costing. ‘ ‘
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(d) What is Integral Accounting? Mention its major
benefits.

(¢) Explain the basic principles to be followed in deter—~
mining the amount of profit on incomplete contract.

() What is ABC Analysis ? Mention its importance,

(g) Briefly explain the term ‘Labour Turnover Cost.” How
“do you treat this Cost in Cost Accounts ?

(h) Distinguish between Halsey Plan and Rowan Plan of
labour remuneration.

(ij Discuss the causes of under-absorption or over-
absorption of overhead.

(i) ‘What is Standard Costing System ? Mention the uses
of Standard Costing System.

»>

E-

2. Answer any five questions : 8x5

(&) “Costing is an instrument of Management Control”
and “Costing is nothing more than a detailed analysis
J - of expenditure™—Explain. ) 8

(b) (i) Explain the Elements of Cost’ with examples.'

(i) With imaginary figures analyse the total cost of an
article into Prime Cost, Factory Cost, Office Cost and
Cost of Sales. If Profit is 20% on sales, determine
also the Sales Price. 8

- : -

R
S

{ C/1 S/B.bom. /Part-1I(AF-H)/3T(N)/ 14 {Continued)



(c)‘ What do you mean by “Perpetual Inventory System” ?
How does it differ from ‘continuous stock-taking’?
State the advantages of Perpetual Inventory System.

2+2+4

(d) In a factory, a job can be executed either through
workman A or B. A takes 32 hours to complete the
job, while B finishes it in 30 hours. The standard time
to finish the job is 40 hours.

The raw material input cost and hourly wage rate are
same for both the workers. A is entitled to receive
bonus according to Halsey Plan, while B is paid bonus
as per Rowan Plan, Works overhead are recovered on A
the job at Rs. 15 per labour hour worked. The Iactory
_cost of the job comes to Rs. 5,200 respectively
‘" irrespective of the workmen engaged.
Find out hourly wage rate and cost of raw matcriails

input. : 8

(¢} What do you understand by under-absorption and
over-absorption of overheads ? What are the causes of
such under/over absorption of overheads ? © 444

() (i) From the following particulars, calculate the
value of work-in-progress of contracts in each
~case :
{a) Contract Price Rs. 6,00,000; Work certified
Rs. 4,00,000 Work uncertified Rs. 50,000;
Notional Profit Rs. 80,000; Cash realised
@ 75% of work certified,
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(b) Contract Price Rs. 8,00,000; work certified
Rs. 6,80,000; work uncertified Rs. 60,000;
Estimated total profit Rs. 1,20,000; Cash —
realised @ 80% of work certified.

(i) What do you mean by ‘Bill of Materials’?

{3+3)+2
{g) From the following info'rmation; Prepare Process III
Account :

ftems Process IIf

Rs.

Opening Stock 18,000

Direct Materials . 31,500

Direct Wages 22,500

Production Overhead 9,000

Closing Stock 3,000

Profit Percentage on transfer price 20%
(to the next process)

Inter Process Profit for Opening Stock 3,000

Total Transfer from Process II Account Rs. 1,08,000
(Profit included Rs. 27,000). 8

(h} Explain what is meant by group bonus? State the
objectives of introducing a group bonus scheme in a

factory. 3+5 . ~
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() From the following particulars, calculate the best
quantity to be ordered :

Ordering quantity fin kgs} - Pﬁ?e per kg
Rs.

Less than 500 10,00
500 and less than 1600 : 9.60

' 1600 and less than 4000 * - 9,40
4000 and less than 8000 . 920

8000 and above : 9.00

1he annual requiremopt of the material is 8,000 kgs.
stock holding (carrying) costs is 20% of material cost
per annum. Ordering (Re-ordering) cost per order is

Rs. 10.00. . 8
) g )

{j} Exblain the meaning of the following items (any two) :
(i) Labour Turnover,

(i) Normal Process Loss and Abnormal Process
Gain; '

(iii) Certiﬁed Work;

(ivi Material Transfer Note.
4+4

C/15/B.Com./Part-1I(AF-H)/3T(N)/ 14 (Turn Over)



3. Answer any two questions : 15x2

(@) From the following information obtained from

.

Grindlandey Manufacturing Co. Ltd. you are required
to calculate the following variances :

(if Labour Cost Variance;
(ii) Labour Rate Variance;
(i) Labour Efficiency Variance;

(iv) 1dle Time Variance.

Information :
- (i) Standard time allowed — 11500 hours.
(if) Standard Labour Cost per hour — Rs. 5.50.
(iii) Average working days in a month — 25 days.
(iv] Number of workers — 60.
(v) Each worker works 8 hours a day.
{vi) Total wages paid — Rs., 72,000
" (vii) Idle time (abnormal) — 150 hours. 15
(b) A company has the following particulars rcgarding
production and sale :
{a) - Fixed Cost — Rs. 90,000
(b} Total Sales — Rs. 3,00,000
'{c) Total Profit — Rs. 60,000
{i} Calculate P/V ratio.

(i) What would be the volume of sales if the
company sustains a loss of Rs. 30,000 wit’
the P/V ratio remaining unchanged ?
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(iij Determine Margin of Safety for a profit of
Rs. 60.000 as above.

.
Write short note on Angle of Incidence.
(4+4+3)+4
(c) There are three departments in a factory. The
particulars of the department. are given below :
Departments
X Y z.
Floor Area (sq. ft.) 3,000 2,000 - 1,000
No of workers 40 30 20
Capital value (Rs.) 2,00,000 3,006,000 5,00,000
Direct Machine hours p.a. 1,000 2,000 4,000
dJumber of light points 40 60 100

Wages paid per annum (Rs) 10,000 15,000 10,000

Additional information regarding different items of
expenses incurred in respect of the factory are as

- follows :-
Rent, Rates and-Taxes of the factory — | 1,20,000 ;p.a.
Expenses of wages for office staff — 1,80,000 p.a.
Repair and Maintenance of plants — 1,40,000 p.a.
Electricity Charges (factory) — 2,00,000 p.a.
Depreciation of plants — 20,00,000'p.a.
-~ Canteen Expenses — 90,000 p.a.
Workmen’s State Insurance Premium 2,10,000 p.a.
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You are required to prepare a statement showing
distribution of overhead expenses among the
- departments. 157

(d) Write short notes on any three of the following: 5x3
{il Opportunity Cost;
(i) Cost Control;
(iiiy Break-Even-Chart;

{iv) Process Costing;

[Internal Assessment — 10 marks]
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AN W @ ofS T WF AW ARG (IR TN )
. A A (Halsey) 8 WS &< B (AW (Rowan)
2 SR{ATE ARTeIES SEgfa (Bonus) seuta af@«id |
PR ST T T I FCAE, TOBT AW B T
15 Brsl fRTeIel (recovery) &1 201 (@ (W WfiE Rzl
T (AT Al (N, SAPEOY FLIFE A (factory cost)
5,200 O9l| wfis 991-2w @as @ ﬁﬁma-”'

(8) THARGCI FH-wAee Aferrs & g 2 oAfaem €3
3 wig-SieETe e & & e

C8+8

e (B) (i) TR RRmd 23TS orer e owa sl

FICa eu fAdias aear ¢

(¥) Contract Price Rs. 6,00,000; Work certified
Rs. 4,00,000 Work uncerﬁﬁed Rs. 50,000;
Notional Profit Rs. 80,000; Cash realised
@ 75% of work certified.

(¥) Contract Price Rs. 8,00,000; work certified

Rs. 6,80,000; work uncertified Rs. 60,000;
Estimated total profit Rs. 1,20,000; Cash
realised @ 80% of work certified.

(i) “FHWTET [ (Bill of Materials) IS F 2 2

(0+9)+3

C/15/B.Com./Part-1I(AF-H)/3T(N)/ 14 (Turn Over)



12

(%) ok o9 2309 Process II-9 &R oo @01 ¢

Items Process I«
Rs.
Opening Stock 18,000
Direct Materials 31,500
Direct Wages 22,500
Production Overhead 9,000
Closing Stock 9,000
Profit Percentage on transfer price . 20%
to the next process
( P ) -
Inter Process Profit for Opening Stock 3,000
Total Transfer from Process II Account Rs. 1,08,000
(Profit included Rs. 27,000).
’ |
(®) oISt e IS g 2 ol smamm oot @ o
Ta9 Ay Sreepale zdq s
O+¢
(@) FEffie R 2809 Boige FMTAN (order) @9 e
fRdiae @rar ¢ ’ -
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-Ordering quaﬁtity {in kgs) ‘ Price per kg (Rs.)
500 (e o9 10.00
500 (& (ATF 1606 cafe =% 9.60
1600 (& (AT 4000 FTET W 9.40
4000 (¥ (ATF 8000 (FReH I 9.20

8000 (T8 @< (T 9.00

Mo AR ATAEA 8000 (F& | MeT TGS AT 4T
(carrying cost) AATRF LT HSTA! 20% | &S order
fofg ordering (Re-ordering Cost) ¥35 10 3I#1l v
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(iv) AN FTEE o)
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(F) Grindlandey Manufacturing Co. Ltd. @d f%%5 ‘4‘3(\3‘
o1 O (AT TRl Sif=ma (v ff (cost variance)
(el =t w9

(i} Labour Cost Variance;
(i) Labour Rate Variance:
(iii) Labour Efficiency Variance:

(ivj ldle Time Variance.

oA7G SYITE
(i Standard time allowed .
(SFII TS WS FIT) — 11500 07|
(i) 9FF 4TS VTS CHAEH — 5.50 5|
(i) @ WOH 5 =W F@H — 25 fe
(iv) aﬁas A — 60 T
(v) ﬁwaﬁ@m 8 'ﬂ-%msf%mmrmmm
(vi) =78 CRlB TG — 72,000 Gl
(vii) ST T (ASRE) — 150 w6 se
(A) = @R Gesine @ Ry a2y Res oreal 339 ¢
o AR - 90,000 i

oI & — 3,00,000 B
(I AT — 60,000 Bt

C/15/B.Com. /Part-1I{AF-H)/3T(N)/ 14 (antinued)



15

(i) P/V ratio =i Sl

(i) IW F=TT 30,000 B (AN 7, BTI P/V
ratio WrR AR Rtz =i ok s
(i) SLATCAT (3 W [T #IfF=1 60,000 iz 2w, (1
~Angle of Incidence (WI9$H (FW) 90T ST 719 |

(8+8+90)+8

o (). @6 FRAEY A Semn e g Femeig

Rget @ wpifee ooy Mev rea 224 ¢
- for
X Yy 2
G SIS (sq. ft) - 3,000 2,000 1,000
it e ' 40 30 20

Rivrafers e &% (Rs.) 2,00,000  3,00,000  5,00,000
A 2ror =5 T 1,000 TB1 2,000 TB1 4,000 T

{machine hours p.a.)
Light Point &9 47 40 60 100

RS T 2T (Rs.) 10,000 15,000 10,000
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TR Nl @ (TGN qW ¥ —1,40,000 BIF
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oo wRBfe wf® 1 —  20,00,000 B

P 4T — - " 90,000 B
APa IETIT B T A W — 2,10,000 T4,

—
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(iti) TR wifEr;
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